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E|IE|C|E|C|VP VP| VP
5(4]16(5|13|7 10| 20
1] 3260 [10/10| 9]10| 10|10| 10|admis| 9,85 60| - 9,76 10liunie 0
2| 3261 | Of 0] Of Ol Ol Of O 0 0|MPAAHE, EPAHE 0 0 0 0
3| 3262 | 9] 7| O O] 10/10] O 0 19|SECCAHE, EPAHE 0 0 0 0
4| 3263 [(10]|10| 9| 9| 10{10| 10|admis| 9,725 60| - 9,62 10{iunie 0
5 3281 [10] Of Of O] 9] 0] O 0 8|MTVH, EPAHE 0 0 0 0
6| 3264 | O O] Of Ol Ol Of O 0 0|SEEAEH, TSAHE, EPAHE, MMSCCA, El 0 0 0 0
71 3265 | 9] 7| O 9| 9|10] O 0 24 |MPAAHE, EPAHE, MMSCCA 0 0 0 0
8| 3266 [10(10]|10[10]| 10{10f O 0 30| - 0 0 0 0
9] 3267 | O O] O] Of Ol Of O 0 0|AAHPE, SECCAHE, TSAHE, EPAHE, El 0 0 0 0
10| 3269 [10[{10] 8| 7| 9[10| 10|admis] 9,25| 60] - 9,17 10{iunie 0
11| 3270 [10| 9] 8|10 9[10| 10|admis| 9,525| 60] - 9,67 10liunie 0
12| 3271 | 8| 7| 6| O 9[{10| 10|admis| 55|MPAAHE, SSAP, EPAHE, MMSCCA 0 0 0 0
13| 3272 [10{10] 8| 9| 10(10| 10|admis| 9,575| 60] - 9,58 10liunie 0
14 3273 | 8| O] O] Of 910 O 0 15|EPAHE, MMSCCA 0 0 0 0
15| 3274 (10| 9| 8]|10| 10{10] 10|{admis 9,6| 60| - 9,73 10liunie 0
16| 3275 | 9| 9] 8| 9| 9(10| 10|admis| 9,275| 60] - 9,19 10liunie 0
17{ 3276 | 9|10 7] 9| 9{10] O 0 30| - 0 0 0 0
18| 3277 | 9| 8] 8| 9| 10(10| 10|admis] 9,25| 60] - 9,08 10liunie 0
19| 3278 [ O Of O] O] Of O] O 0 0|SECCAHE, TSAHE, EPAHE, MMSCCA, El 0 0 0 0
20 3279 | Of O] Of O] O]l Oof O 0 0|MPAAHE, SECCAHE, EPAHE, MMSCCA, EI 0 0 0 0
21| 3280 [10( 9| 6[10]| 10|10f O 0 30| - 0 0 0 0
22| 3282 | 9] 9| 6] 9] 9|10| 10|ladmis| 8,975 60|EPAHE-5 8,74 0 0 0




